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Plot [['EcFgro', 'EcFzExp', 'EcPItng’, 'ECdef’, 'EcParam’, 'water_ec']]

|
3500 + —>¢ EcFzExp
—»%— ECdef e

3000 1 —« EcParam N |
| =« water_ec & I
2500 - T ; :
2000 :
1
1500 :
1
1000 :
00 Warning: col ['EcFgro', 'EcPItng'] is missing 1
5 1

0 25 50 75 100 125 150 175



Plot ['ECopt']
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plot dfFv
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plot dfFv (daily AgqQ)
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Plot minDeltaM, minDeltaMs, minDeltaMt
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Daily %DeltaM and %DeltaM/1000ml ETcldef for M10 W (-5.5%/D, -8.1%/1000ml ET)
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ETcldef vs pctDeltaM and pdMPerEtL for M10_W
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Daily %DeltaM and %DeltaM/1000ml ETcldef for M10 W1 (-8.4%/D, -9.3%/1000ml ET)
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ETcldef vs pctDeltaM and pdMPerEtL for M10_W1
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Daily %DeltaM and %DeltaM/1000ml ETcldef for M20 W (-4.2%/D, -6.3%/1000ml ET)
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ETcldef vs pctDeltaM and pdMPerEtL for M20_ W
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Daily %DeltaM and %DeltaM/1000ml| ETcldef for M20_W1 (-10.3%/D, -9.6%/1000ml ET)
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ETcldef vs pctDeltaM and pdMPerEtL for M20_W1
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Daily %DeltaM and %DeltaM/1000ml ETcldef for M30 W (-5.3%/D, -8.2%/1000ml ET)
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ETcldef vs pctDeltaM and pdMPerEtL for M30_ W
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Daily %DeltaM and %DeltaM/1000ml ETcldef for M30 W1 (-7.8%/D, -7.1%/1000ml ET)
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ETcldef vs pctDeltaM and pdMPerEtL for M30_ W1
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Daily %DeltaM and %DeltaM/1000ml ETcldef for M_W (-6.1%/D, -3.7%/1000ml ET)
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ETcldef vs pctDeltaM and pdMPerEtL for M_W
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ETcM and ETcMma

2.00 1 —— ETM M1o W1
1.75 - —— ETcM_M20 W1
o e /
—— cM_IM_
1.251 ® ETM * >/<
1.00 A - —— ETcMma é %
0.75 A . - X® X ®
0.50 - % X o®
. X
0.25 1 >\<—x >\< X *<
10 20 30 40 50 60 70 80




175

| | | |
g g : 3
- = = d.._.m o
S i
p W o i
"] Q
S N
~ ~ ~ - ~ ~ -
‘ — — — — — _

[—

7

150

V/\\v

150
CTNA

150

150

o
150
150
A4

/\/‘\
AN
o,
AN
\_\

n

100
\\\-\
100

125

100

M

R Y ATV
Q,
R
N

IK“’

\ A/ N T
100
100
|

\
\
\
\

75

R
|

75
L

\al
vy

\

50

Plot [['I", 'lopt'], ['T", "Topt'], ['RH', 'RHopt'], ['ETcl', 'optETcl'], 'LAI', 'optEtRate']

75

50

A
i\
A\

ALY
/ |

I
W
il
v/
/

IMTIVAYiTARY

R TV
|
V
Jv’\
VAL

25

>
M 0 N
| - .\V ~ o N
—— —_— =
- —
V — < g ——
[ ~ -
I | —
—
> > - >
L
o
= I m
o o o o o
2 8 8 8 S22, g22n R g B 8 2 2880888 T B T oY 2 2 8 3
O N~ 1IN N O NN 1IN N N+ 4 O -~ <4 <+ o o O
™  «~ - M N N N N A oA o S N § © ©vw T o




13Wwin>

e & 8 & &8 & 8
S 8 8 % B ] 2 o
08T
QLT
%oy, | OLT
G991
091
QGT
0GT
O, SPT
! ovT
e Bl
A —— el
e —— A
gy | ST T
| | OTT
b SOT
p | 00T
| S6
)| 06
5| S8
i Rt A Eatts AN §===5 08
=@ G/
S g | 0/
T %g=—el 59
— T &——a_ _____ | 09
T ——wa, | |SS
N\ " ®——- |09
L \¥ ®—a | | St
. S —
_— s€
(013
T4
0¢
ST
0T
B S
0
o o o o o o o m
s & 8 & &8 & 8
~ (e} Te] < m o —

US|

©



20

- 15

- 10

Te] o

240256 |
o
i

--15
-20

n
1
1

7000

6000

5000 A

4000
3000
2000
1000

N



Fg Trigger Score (by Et and sensor)
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Plot liquid fertilizer usage
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Plot solid fertilizer usage
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Fertilizer Range Source: kerleyL, kerleyH, UnivFL, TNAI, Haifa
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Fertilizer Range Source: kerleyL, kerleyH, UnivFL, TNAI, Haifa
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